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< 912
Al 3,648
OXIO =D& EE 10,000
o X0 ZEZ AL
100,000& x25H +43] 10,000
2l 8,000
< 400
Al 1,600




= 2aL
M AHLTA S 235
=2l XI0HoIEY & 2t EER=E)
Al = % o|(5 = dEe =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
OU&EE Atell2elE 10,000
oAtdl2tel Hait AMES X
20,000 »500H 10,000
] 8,000
< 400
Al 1,600
308 XXIHMSOIA 3,000 0 3,000
] 2,400
< 120
Al 480
183 SV 2SS & AEAIE 3,000 0 3,000
OXIOf 1A E2S o &5
3,000,000 *14] 3,000
] 2,400
[ 120
Al 480
401 AIEHIZL 20HY 50,000 50,000
01 Al 50,000 50,000
OFAL 2= AHAIHIZ=D)
50,000,000 *14] 50,000
SEXMLL SS=AXE 975 890 85
2l 781
< a7
Al 97
201 L= 775 290 485
7l 621
= 7
Al 7
01 AtR22telbl 775 290 485
OZ22=dAMY 2925 7
775,000 3 * 14! 775
Il 621
T "7
Al 7
301 LPENZF 200 600 2400
] 160
(= 20
Al 20
14 DBt 2 a3 200 600 2400
O=aQl 2=t 200,000 %14 200
D] 160
= 20
Al 20
XIOHXIZ 2eldl R (2AME] X&) (HEALY) 226,000 231,000 A5,000




A=z BHA AN ALSEL
S HUTAl S 25t
s XI0HoIE & 2t EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 135,600
Al 90,400
308 REXISHMSOIH 226,000 231,000 25,000
& 135,600
Al 90,400
13 I 2 S0IHeHE & XH (AL 226,000 231,000 A5,000
OXIHXI= 2teld] K&
226,000,000 14 226,000
= 135,600
Al 90,400
FUAHLEN L3t 2,194,439 2,774,958 580,519
= 116,99
| 667,049
& 192,666
Al 1,217,729
oA L=XHEH K 76,650 76,650 0
| 38,325
T 7,665
Al 30,660
307 QI2H0| M 76,650 76,650 0
| 38,325
= 7,665
Al 30,660
05 QI”tP|E = 76,650 76,650 0
OFNHL=XIHEH K&
76,650,000& 14! 76,650
| 38,325
= 7,665
Al 30,660
FAAL=RNHE ClEESE 711,740 636,480 75,260
| 355,870
= 71,174
Al 284,696
307 gI2tol ™ 711,740 636,480 75,260
| 355,870
& 71,174
Al 284,6%
05 QIZtREI S 711,740 636,480 75,260
QB NUAL=XIMEH 21A4d] K&
37,460,000& 19 711,740
| 355,870
& 71,174
Al 284,6%
SSEEUALSIAZ 280,000 582,332 A302,332




Eelr ZAALSE 24 EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2

J| 140,000
= 28,000
Al 112,000
307 S1Zt0| & 280,000 582,332 N302,332
J| 140,000
& 28,000
Al 112,000
05 OIZt2| &2 280,000 582,332 N302,332
OSEHAMAHLSEAIY X2
280,000,000 x 14! 280,000
J| 140,000
& 28,000
Al 112,000
Ao & HJMAUYSEAS 91,636 91,636 0
J| 45,818
& 9,164
Al 36,654
307 21Z2H0| & 91,636 91,636 0
J| 45,818
= 9,164
Al 36,654
05 QIZtREZ 91,636 91,636 0
OX& N & HAHAUXSEAS
91,636,000& * 1A 91,636
J| 45,818
= 9,164
Al 36,654
HAMAUEX|HE KHAOEAIY X 74,072 72,190 1,882
J| 37,036
= 7,407
Al 29,629
307 21Z2to| ™ 74,072 72,190 1,882
J| 37,036
< 7,407
Al 29,629
05 QIZtREZ 74,072 72,190 1,882
OXHAHHIEEALS o128 X|&
37,036,000 x2H 74,072
J| 37,036
c 7,407
Al 29,629
et = AASEAMBIA KR 100,000 215,475 A 115,475
J| 50,000
c 10,000




Eelr ZAALSE 24 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Al 40,000
307 2I2t01 100,000 215,475 ~ 115,475
) 50,000
< 10,000
Al 40,000
05 212t =S 100,000 215,475 A115,475
OXtet 2= AASAMHIA X
100,000,000& 14! 100,000
) 50,000
< 10,000
Al 40,000
Aaoed & dEES A 91,880 122,500 130,620
< 18,376
Al 73,504
307 2IZto1 ™ 91,880 122,500 230,620
< 18,376
Al 73,504
05 2IR”tRIE = 91,880 122,500 230,620
OXtaiey & HEES A
91,880,000& »14] 91,880
< 18,376
Al 73,504
X0l At 25 XN&H 29,603 49,337 N19,734
< 8,881
Al 20,722
307 2I2t01 ™ 29,603 49,337 N19,734
< 8,881
Al 20,722
05 2IR”IRIE = 29,603 49,337 N19,734
OMEXIZO0l Atedl2el &5 X
29,603,000& x 14 29,603
< 8,881
Al 20,722
ES=S2SENZEH 29 170,990 167,380 3,610
= 85,49%
< 17,099
Al 68,39%6
307 2Ito1d 170,990 167,380 3,610
= 85,49%
(= 17,099
Al 68,39%6
05 2ItRIE = 170,990 167,380 3,610
Oss2elsEXddE 29
170,990,000 14 170,990




A AL SN AISE
T AACAl A 23t
Eelr ZAALSE 24 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
= 85,495
< 17,099
Al 68,3%6
SAEAAE SAL HRMA 57,000 56,200 800
[ 11,400
Al 45,600
307 2Ito1d 57,000 56,200 800
< 11,400
Al 45,600
1 AIRISTIAISE X 57,000 56,200 800
OBUBAHAIE BAR HRME =
57,000,000 *14] 57,000
< 11,400
Al 45,600
SATHEANE 29 275,000 275,000 0
307 2IZtold 275,000 275,000
10 Al2ISTIAIEEE 22X 275,000 275,000
OZMMEANE 24
275,000,000 *1JH A+100% 275,000
SALSTAIE &5 20,000 0 20,000
= 14,000
Al 6,000
402 RIZERHE0I1H 20,000 0 20,000
= 14,000
Al 6,000
02 RIENEASEZ(0IETHR) 20,000 0 20,000
OZMHEAE JIsEZ
20,000,000 *14] 20,000
= 14,000
Al 6,000
HAZEL XIZHl X2 35,000 12,390 22,610
= 17,500
[ 3,500
Al 14,000
301 LEIE NS 35,000 0 35,000
= 17,500
< 3,500
Al 14,000
01 Al 2E AL S(SREXME) 35,000 0 35,000
O EEX x1zdl X
35,000, 000& » 14 35,000
= 17,500
< 3,500
Al 14,000
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RPN QA ALBID
AY2IIH(AFSE W)
eisES EERE)
SA - A S90(30) - HRAY - BAS of v e HIDE2
2| 1,330,851 1,280,348 50,503
= 40,660
Jl 510,422
= 82,081
Al 697,688
A 2e] SRA 21| 532,491 721,383 188,892
Jl 206,975
= 41,395
Al 284,121
101 @124H| 444,939 605,772 A160,833
Jl 206,975
< 41,3%
Al 196,569
03 SR (RINHA) 222+ 444,939 605,772 /160,833
OSRA2Z X 22| 444,939
S == 2,422,503 x10E 123 290,700
) 145,350
< 29,070
Al 116,280
odIsrd 2,582,500 *10H *100% 25,825
) 12,913
== 2,582
Al 10,330
SRuPNEE= I RSy
118,720 x 102 * 162 18,9%
Jl 9,498
S 1,900
Al 7,598
oAl2tel 4t
22,2603 %10 +6A1 2Hx 123 16,028
Jl 8,014
= 1,603
Al 6.411
cRQAHIRE 160,000 x10E =122 19,200
) 9,600
= 1,920
Al 7,680
o FHHZAY| 14000024 %10 * 122 16,800
| 8,400
== 1,680
Al 6.720
oW S22 140,0002x102+12& 16,800
) 8,400
& 1,680




A= 224 SN AISE
M HZYRAZH(AZSI 1)
el QIEE2E (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
Al 6,720
cItEE 9,600
- HH X 40,0003 102+ 123 4,800
) 2,400
< 480
Al 1,920
= 4,800,000 14! 4,800
) 2,400
< 480
Al 1,920
o HEFIHI(AIHIZIH
2,582, 5002 * 102 *120% 30,990
M HA=RE=SS 87,552 115,611 28,059
M SRH(RIAHA) 22N 2RSS S 87,552 115,611 128,059
O=eASRLS(AHIFI)
3,707,8102 x 102 *12& 4. 5 20,023
O=ALEHIES(AIHIFI)
3,707,8102x10Z * 122 x3.545% 15,774
OFILLHRLS(AEIFIH)
15,774,000 %12.81% 2,021
ONELERLS(AHIFI)
3,707,8102x 102 *122 1. 8% 8,009
OMEE RS (AIHIFI)
3,707,8102x10Z * 122 +1.044% 4,646
OElzla 82 A (AHIFI)
3,707,810 %10 37,079
NFARI S SHNZAMEIA SRH 2l 259,765 202,839 56,926
Jl 101,181
< 20,236
Al 138,348
101 2124 217,054 170,818 46,236
2l 101, 181
< 20,236
Al 95,637
08 SRH(PINAHA) 222+ 217,054 170,818 46,236
OSRA=Z2 X Q12| 217,054
=JlE2g 2,346,4202 x5 * 123 140,786
2l 70,393
< 14,078
Al 56,315
cddad 1,112, 7002 x5 «2& 1,127
Il 5,563
< 1,113
Al 4,451




NETNCEIPN SN AASED
Mz Y SAAH|(HLSED
s lIEE2ghl (EEEE))
AR 2N BB O (3H) - NRAY - B Ofl by e MimE=E)
AP EEES[EE]
114,940 52 * 182! 10,345
J| 5,173
= 1,035
Al 4,137
SYNEIES=
21,5502 x5 x8A| 2H* 12& 10,344
J| 5,172
= 1,034
Al 4,138
oOIRHR LG 160,000 *5% * 128 9,600
J| 4,800
o= 960
Al 3,840
o ™MMHFAH| 140,000& *5Y * 128 8,400
J| 4,200
o= 840
Al 3,360
cuWESExH| 140,000& 5« 128 8,400
J| 4,200
o= 840
Al 3,360
oI E4Y 3,360,000 *14A! 3,360
J| 1,680
= 336
Al 1,344
o HAESIHI(AIBIZI})
1,469, 150& x5 H x2& 14,692
M4 HA=EE2S 42,711 32,021 10,690
M B2 (RI|HH22A 2 ez =S 42,711 32,021 10,690
O=01d3 ‘:'%*%(AIHI—’.‘—J})
3,617, 550& x5+ 12& x4 5% 9,768
OZ20IAUBEHESLZ2(AHIZIH
3,617,550& *5H x 122 *3.545% 7,69
O QABEHLS2(AIHIZ=I)
7,695,000&%12.81% 986
ONEEEBYZ(AHIZI
3,617,550 x5 H 12 x1.8% 3,907
O THEEESZ2(AlIHIZD}
3,617,550& x5« 122 *1.044% 2,267
OEI2Z2 2892 M (AldI=I})
3,617,550 & x5 18,083
XIOHOHAMIE 29 SR ol24d| 315,548 152,587 162,961
J| 192,366
& 9,618




A= 2AHA SN HABEW
HH: HNSAZH(AZSI)
CHRl: oA 29| (Gt H2)
A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely OE:IEF% Hlns
Al 113,564
101 Q1AH| 269,820 126,990 142,830
bl 192,366
< 9,618
Al 67,836
03 BRH(RIHS) 222+ 269,820 126,990 142,830
O2R2Z2 X QIAAH| 269,820
o223 2,400,000 62 * 128 172,800
bl 138,240
[ 6,912
Al 27,648
cDIAAD 4G 160,000 6% * 12 11,520
bl 9,216
< 461
Al 1,843
o FUBAY| 140,000 6% * 12 10,080
bl 8,064
< 403
Al 1,613
SIMESLENG | 140,000 6% * 12 10,080
bl 8,064
[ 403
Al 1,613
oIIELE 70,0002 6%« 12 5,040
Jl 4,032
< 202
Al 806
oIS SIS
190,000 6% * 15 17,100
bl 13,680
< 684
Al 2,736
ol ILY 13,837,000 % 14| 13,837
bl 11,070
[ 553
Al 2,214
o 24E(AILIFIN
7,763,000 14! 7,763
o HESIHH|(AIHIZ=I})
1,800,000 6 H *23] 21,600
M H=EH3S 45,728 25,597 20,131
04 BRE(2I|H L) 22K HEH2 2= S 45,728 25,597 20,131
O=0IASESZ(AIHIZI})
276,156,0002 4. 5% 12,428




NS TIPS SN AYBAD
Hu: SN (AYBED)
ool ol CEEE)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
SEFEREEEEEINES)
276, 156, 000243 545% 9,790
O 2YBEH LS (AHIZI)
9,790, 0002 %12.81% 1,25
ODBRESL(AHIFIN
276, 15,0002 1. 8% 4,971
ONTHRE LS (AHIFIH)
276, 156, 00024 1. 044% 2,884
OEINZ 223 Y (AHIFI
2,400,00021%62] 14,400
U2AYBLIANY BLE IAHY| 112,723 100,338 12,385
= 40,660
= 8,132
Al 63,931
101 Q1248 9,720 84,030 11,69
2 40,660
= 8,122
Al 46,928
REEEIESPTSEEFI=RS 9,720 84,030 11,690
07123 2,500, 00024 +2% 122 60,000
2 30,000
= 6,000
Al 24,000
Oz2+g 2,500,00024%2% 5,000
2 2,500
= 500
Al 2,000
OURBBIEY
20,0002 422202 4,800
2 2,400
= 480
Al 1,920
OAIZrel 4 20,00021+2+ 122 480
2 240
= 48
Al 192
SLIEI=ERS=: 160, 00024422+ 122 3,840
2 1,920
= 384
Al 1,53
OFAUZA| 140,002 42+ 122 3,360
2 1,680
= 3%
Al 1,34
ORE2Z| 140,00021 422+ 12 3,360




A= 224 SN AISE
M HZYRAZH(AZSI 1)
el QIEE2E (St &)
AR RN BB G(SH) - MRAY - BES 0 &t A HIRE2
= 1,680
< 336
Al 1,344
OXt2=g 20,0002 x2&* 123 480
= 240
< 48
Al 192
OI1E==E(AlEI=I1)
100,000 2 *12& 2,400
O EFOHI(AIBIZIY)
3,000,000& x2H+23] 12,000
U ASEESS 17,003 16,308 695
04 SR (RIH)22XN BEE=RES S 17,003 16,308 695
O=8d= %‘%(Altilﬁjf)
3,600,000 x2& » 122 +4. 5% 3,883
O=ALLHRL S (AHIFIN)
3,600,000 x2B 122 x3.545% 3,063
OWQALHFES(AIBIFIL)
1,531,440 x2& #12.81% 393
OLNELERYS(AHIFIN)
3,600,000 x2&E* 122 *1.8% 1,556
OtHHEERE S (AHIFI)
3,600,000 2B 122 x1.044% 903
OElzls f€2 A& (AHIFI)
3,600,000 x2& 7,200
2V (ST X)) SRA 24| 55,319 50, 155 5,164
) 7,500
< 1,500
Al 46,319
101 QI24H] 46,675 42,412 4,263
Jl 7,500
= 1,500
Al 37,675
08 SRA(PINAHL) 222+ 46,675 42,412 4,263
OZR22Z X} elb| 46,675
=JlEs 2,500,000& «1H+62 15,000
Jl 7,500
< 1,500
Al 6,000
=J12S(ABIF
2,382,8703 «1H+62 14,298
od2+Z(AHIFI})
3,012,000& 1 3,012
cHRREF I (AIHIFI
17,1208 <1817 1,992




AR BAA A HASE

M SHASHAH|(HUSED)

&2l I 2| (EEEE))
A (=] X XH Cl2l (3 (=] NI [ OH E“'—jE =24
Al . 24 - HZ . S (3H) - HIEAY - B Y 04| &keH Ol Abou Hw=s2

o A2t (AIBIZ=I})
21,9602 x 12 +5A| 2+ 128 1,318
o OIAARLSH(AIHIFI})
160,000 12 x 122 1,920
o HOMIAIH|(AIHIZEI})
140,000 x 12 * 122 1,680
o MEEXH|(AIHIZ=D})
140,000 x 12 * 122 1,680
o X &= =Y (ALIFI})
20,0002 12 x 122 240
o IELSY(AHIZI
160,000 x 12 x 122 1,920
oHASIIHI(AHIZFI})
3,012,000 %12 %120% 3,615
34 HBEH3S 8,644 7,743 901
M4 2RI (RIHA) 22} EEHBRH2 S 8,644 7,743 901
O=p1¢132 %‘%(/\IHI—’F—JH
3,820,000 * 1+ 122 %4 . 5% 2,063
O20IHASSHBEZ(AIHIFDL)
3,820,000 12« 122 %3 545% 1,626
O QLABEHBSZ(AIHIFIH
1,625,02824x 1% %12.27% 200
ONEEEESZ2(AIBIZ=I
3,820,000« 1+ 1224 %1 . 8% 826
OLTHEBE RS2 (AIHIFEI})
3,820,000« 1« 122 *1.044% 479
OE2Z 22 A (AL
3,450,000 x1H 3,450
SRUEAAMY 2R Q12| 55,005 53,046 1,959
] 2,400
[= 1,200
Al 51,405
101 Q124H| 44,391 42,752 1,639
J| 2,400
[~ 1,200
Al 40,791
03 SLE(PIIHL) 2224 44,391 42,752 1,639
O2RX2Z Xt 2124H| 44,391
SYIEE 2,400,000« 12 +22 4,800
J| 2,400
[ 1,200
Al 1,200
oJl2=(AIFED
2,402,730« 1H* 102 24,028
o™2LY(AHIZI
2,562, 73021 2,563




ro (¢ Hr
J¥ 03 1Y
HO FHo b

02 08

_ _ qE|
CRA - EHH . G(EH) - NRAY - BES e HimE=T
oSBT E IS (AIHIZFI})
117,900 x20 2,358
o AI2FIA=EH(AIBIZ=I})
22,1001 +5A 2Hx 128 1,326
o QIRANDAEH(AIHIFI})
160,000« 1% x 122 1,920
o HMIAH|(AIHIZIH)
140,000« 1 x 128 1,680
o NEEXY|(AIHIZ=I})
140,000« 1% * 128 1,680
o JIESY(AIHIZEI}
60,0008 1122 720
o XA =g (AlHIFI})
20,0002 x1 122 240
oA S IHI(AIHIZEI})
2,562, 730212 % 120% 3,076
M H2RUIS 10,614 10,294 320
M 22E(RIH%) 22X BEard=z S 10,614 10,294 320
O=0IAZRZ(AIHIFI})
3,679,000« 1 » 122 %4 5% 1,987
OR0IALSEHBLZ(AIHIFI})
3,679,000+ 1+ 122 x3. 545% 1,566
ORIIQLUBEHSLS(AIHIZI})
1,565,000 * 12 %122« 12. 27% 2,305
ONEEEHRSZ(AHIFI)
3,679,000 x1H» 1224 x1.8% 795
O/ THEE RS (AIHIFI})
3,679,000 * 1122 x1.044% 461
OEIXZ 22 = (AHIFIH
3,500,000 1 3,500
|=22H| 40,100 46,530 26,430
J|=2AH 40,100 46,530 26,430
201 Let2A| 26,300 29,310 23,010
01 AH22t2|H] 17,200 19,160 21,960
OYst=2H| 7,600
CHMAIRRE P 450,000 #43] 1,800
oHMAFMA|D| AXI2
400,000 * 122 4,800
oJ|Et=2H| 1,000,000 1A 1,000
O3] 9,600
ol2gRas JAll
8,000 50 *25| * 128 9,600
02 2229 9,100 10, 150 21,050
OZ2222 2 HMA 7,300
oUBIRH 45029, 000 4,050
oSI|IRH 2,500 %1,300A 3,250
OXES Il 1,800
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Al A

=H o
AR BAL SN B
Ha: D0
ool ABRAHIA MR (el mg)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
20l 2t 6,206,712 7,346,4% A1,139,783
2 17,651
| 2,139,856
= 90,226
Al 3,128,979
=0y 5,125,159 6,412,656 A1,287 497
= 17,651
| 2,104,843
= 674,798
Al 2,307,872
PEIZHHIA HB 167,060 73,910 £6,850
BNNE ¥ BN 40,960 42,560 A1,600
201 Y2t 8,560 8,560 0
01 AFR 22| 7,360 7,360 0
QRSN =8| U2 ()
250, 00021 x2CH+ 1224 6,000
ORIRA JHSTe)| YRtz
20,0002 +30H 122 720
on=t| 80, 00021483 640
2 T2 1,200 1,200 0
OFERN BHIRXHI 400, 00024434 1,200
203 YL EAH| 1,600 2,000 2400
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